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'<5FL: ?D54EF46<FL GG55=O= <4F5D<4? 6 

GEF=>=, ?<EL<5==>= < 7D4D<G5E>>= D>D<5 

4?O D47?<G=OE >>=F<=75=F>6 E?GL4F5?5= 

E?>E>54<< E<EF5<4F<74F<<, >5>5M5=<O < 

D4E?D>EFD4=5=<O <5F>4<G5E>>7> >?OF4.  

�?445FL: F5>D5F<G5E><<< 7=4=<O<< < 

?D4>F<G5E><<< G<5=<O<<, ?>?GG5==O<< 6 

E>45 >5GG5=<O.  

��-4.3. �D>6>4<F <EE?54>64=<O 

E>7?4E=> E?5F<4?L=O< <5F>4<>4<; 

?D>6>4<FL >5D45>F>G D57G?LF4F>6.  

 

�=4FL: 547>6GN 5<>?>7<G5E>GN 

<=D>D<4F<N.  

'<5FL: <E?>?L7>64FL 547>6GN 

5<>?>7<G5E>GN <=D>D<4F<N 4?O 

D>D<<D>64=<O GG55=>7> <4F5D<4?4, GF5=<O 

?5>F<=, ?D5?>4464=<O 6 >5D47>64F5?L=OE 

>D74=<74F<OE, ?D54EF46?OFL 547>6GN 

5<>?>7<G5E>GN <=D>D<4F<N 6 GEF=>=, 

?<EL<5==>= < 7D4D<G5E>>= D>D<5 4?O 

D47?<G=OE >>=F<=75=F>6 E?GL4F5?5=.  

�?445FL: =46O>4<< ?D>6545=<O 

<EE?54>64=<= < >5D45>F>< D57G?LF4F>6 

<EE?54>64=<=.  

 
 

5. �5EF> < ED>>< ?D>6545=<O ?D4>F<>< 

 

�D4>F<>4 ?D54=47=4G5=4 4?O <47<EFD>6 ?> =4?D46?5=<N ?>47>F>6>< 06.04.01 �<>?>7<O 

?D>7D4<<4 «->>?>7<O», ?D>6>4<FEO =4 5475 >4D54DO 7>>?>7<< < 5<>M>>?>7<< %��' 6 F5G5=<5 4 

=545?L 6 =4G4?5 6F>D>7> E5<5EFD4. 

�D><5 F>7>, $���' �� «%��'» 6 E>>F65FEF6<< E> EF4FL5= 11, ?.9 $� «� 6OEL5< < 

?>E?56G7>6E>>< ?D>D5EE<>=4?L=>< >5D47>64=<<» 74>?NG<? 4>7>6>D4 E> E?54GNM<<< 

?D54?D<OF<O<<, GGD5645=<O<< < >D74=<74F<O<<:  

1. �G75= 5EF5EF65==>= <EF>D<< %?>65=<< (5/=, 6.05.2019-6.05.2024 7.) 

2. �=EF<FGF ?D>5?5< M>>?>7<< < M6>?NF<< <<. �.�. %565DF>64 $>EE<=E>>= 4>445<<< =4G>, 

(��-- $��) (7 4>7>6>D4 20-43, 5.03.20207. 3 30.03.20237.) 

3. $��' «�4F<>=4?L=O= ?4D> «�?4=<O» (5/=, 1.10.20207. 3 1.10.20257.) 
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4. %565D>-�E5F<=E><= 7>EG44DEF65==O= ?D<D>4=O= 74?>654=<> (5/=, 25.10.2012 7., 

55EED>G=O=). 

 

 
6. %FDG>FGD4 < E>45D64=<5 ?D4>F<>< 

 

7 

?/? 

$4745?O (MF4?O) 

?D4>F<>< 

�<4O D45>F =4 ?D4>F<>5, 

6>?NG4O E4<>EF>OF5?L=GN 

D45>FG EFG45=F>6 < 

FDG4>5<>>EFL (6 G4E4E) 

$>D<4 F5>GM57> 

>>=FD>?O 

1 �>47>F>6<F5?L=O= MF4?. 

�D74=<74F<O < 

>D>D<?5=<5 

4>>G<5=F4F<< ?> ?D4>F<>5 

�O44G4 <=4<6<4G4?L=OE 

7444=<=. 

�D74=<74F<>==>5 E>5D4=<5 E> EFG45=F4<<. 

�6>4=O= <=EFDG>F46 ?> F5E=<>5 

557>?4E=>EF<. �O44G4 <=4<6<4G4?L=OE 

7444=<= =4 ?D>E>645=<5 ?D4>F<><. 

%>EF46?5=<5 ??4=4-7D4D<>4 D45>F ?> 

6O?>?=5=<N <=4<6<4G4?L=>7> 7444=<O. 

�4?>?=5=<5 4=56=<>4 ?D4>F<>< 

%>7?4E>64=<5 < GF65D645=<5 ??4=4 

7D4D<>4. 

%>55E54>64=<5 

 

2 �EE?54>64F5?LE><= MF4?. 

�O?>?=5=<5 

<=4<6<4G4?L=>7> 7444=<O. 

�D>6545=<5 ?D4>F<G5E><E 74=OF<= ?> 

GF65D645==O< F5<4<. �D>6545=<5 

>>=EG?LF4F<= E> EFG45=F4<< =4 >E=>64=<< 

GF65D645==>7> D4E?<E4=<O. �7GG5=<5 

D5>><5=4>64==>= ?<F5D4FGDO. %5>D 

44==OE > 45OF5?L=>EF< >D74=<74F<= < 

GGD5645=<= 6 E>>F65FEF6<< E 

<=4<6<4G4?L=O< 7444=<5< (>D<F<4?L=O5 

E4=FO, >FG5FO, 4>>G<5=FO). �4?>?=5=<5 

4=56=<>4 ?D4>F<><, D<>E4F<O E>44 

6O?>?=5=<O ??4=4-7D4D<>4 ?D4>F<><. 

�45>D4F>D=O= 6GD=4? 

 

3 �=4?<F<G5E><= MF4?. 

�5D45>F>4 < 4=4?<7 

?>?GG5==>= <=D>D<4F<<. 

�=4?<7 < >5D45>F>4 <=D>D<4F<<, 

E>5D4==>= 6 E>45 ?D4>F<><. �D>D<?5=<5 

D57G?LF4F>6 6 E>>F65FEF6<< E 

GEF4=>6?5==O<< FD55>64=<O<<. 

�=4?<F<G5E><5 

<4F5D<4?O 

 

4 �465DL4NM<= MF4?. 

�>47>F>6>4 < 74M<F4 

>FG5F4 ?> ?D4>F<>5. 

�D54EF46?5=<5 <=4<6<4G4?L=>7> ??4=4 

7D4D<>4 < 4=56=<>4 (>FG5F4), ?>4?<E4==OE 

DG>>6>4<F5?5< ?D4>F<>< =4 >4D54DG. 

�4M<F4 >FGUF>6 ?> ?D>E>645=<N 

?D4>F<><. 

�4M<F4 >FG5F4 

 

 
7. �5D47>64F5?L=O5 F5E=>?>7<< 

� ?D>F5EE5 ?D4>F<>< EFG45=FO 4>?6=O ?>?GG<FL =5 F>?L>> >>=>D5F=O5 E6545=<O > 

E>EF465, 74>>=><5D=>EFOE D47<5M5=<O, >E=>6=OE 5<>?>7<G5E><E G5DF4E 6<6>F=OE, => < >E6><FL 

=5>>F>DO5 ?D>EF5=L<5 <5F>4<>< ?>?56OE =45?N45=<= <  <EE?54>64=<= ?> 7>>?>7<<. 

�7=4>><?5=<5 E <5F>4<>4<< ?>?56OE <EE?54>64=<= ?D>6>4<FEO =4 M>E>GDE<OE < ?D< 6O?>?=5=<< 

E4<>EF>OF5?L=OE 7444=<=. 

 

8. 'G55=>-<5F>4<G5E>>5 >55E?5G5=<5 >D74=<74F<< < ?D>6545=<O ?D4>F<>< 

�E=>6=O<< =>D<4F<6=>-<5F>4<G5E><<< 4>>G<5=F4<<, D57?4<5=F<DGNM<<< D45>FG  

EFG45=F4  =4  ?D4>F<>5,  O6?ONFEO  ?D>7D4<<4 ?D4>F<><  <  4=56=<>  EFG45=F4  ?>  ?D4>F<>5.  �>  

>>>=G4=<<  ?D4>F<>< ?D54GE<>FD5=>  ?D54EF46?5=<5  EFG45=F><  >FGUF4  ?>  ?D4>F<>5.  �>?=>F4  

< EF5?5=L  45F4?<74F<<  MF<E  7444G  D57?4<5=F<DGNFEO  GF65D64U==>=  D45>G5= ?D>7D4<<>=, 

?D<<5=<F5?L=> > >E>55==>EFO< ?D4>F<><.  
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9. �F5=>G=O5 ED54EF64 ?> <F>74< ?D>E>645=<O ?D4>F<>< 

�FF5EF4F<O ?> <F>74< ?D4>F<>< ?D>6>4<FEO =4 >E=>64=<< 74M<FO >D>D<?5==>7> >FGUF4 < 

>F7O64 DG>>6>4<F5?O ?D4>F<>< 6 >><<EE<<, 6 >>F>DGN 6E>4OF =4GG=O= DG>>6>4<F5?L 

<47<EF5DE>>= ?D>7D4<<O < DG>>6>4<F5?L ?D4>F<>< ?> =4?D46?5=<N ?>47>F>6><. �> <F>74< 

?>?>6<F5?L=>= 4FF5EF4F<< <47<EFD4=FG 6OEF46?O5FEO 4<DD5D5=F<D>64==4O >F5=>4 (>F?<G=>, 

E>D>L>, G4>6?5F6>D<F5?L=>).  �F5=>4 ?> GG55=>= ?D4>F<>5 ?D<D46=<645FEO > >F5=>4<  ?>  

4<EF<??<=4<  F5>D5F<G5E>>7>  >5GG5=<O  < GG<FO645FEO ?D< ?>46545=<< <F>7>6 E5EE<>==>= 

4FF5EF4F<< <47<EFD4=F>6.  

 

�D<F5D<= >F5=<64=<O 

 

�F5=>4 %4D4>F5D<EF<>4 

�F?<G=>  �FG5F ?> ?D4>F<>5 E>>F65FEF6G5F ?> EFDG>FGD5 < E>45D64=<N 74O6?5==O< 

FD55>64=<O<. � >FG5F5 ?>?=>EFLN >FD465=O < 6O?>?=5=O 6E5 6<4O 

?5D6<G=OE ?D>D5EE<>=4?L=OE G<5=<= < =46O>>6, ?5D5G<E?5==OE 6 

E>45D64=<< GG55=>= ?D4>F<><. �=4<6<4G4?L=>5 7444=<5 6O?>?=5=> 6 

?>?=>< >5N5<5. 

%>D>L>  �FG5F ?> ?D4>F<>5 E>>F65FEF6G5F ?> EFDG>FGD5 < E>45D64=<N 74O6?5==O< 

FD55>64=<O<. � >FG5F5 =5 6 ?>?=>= <5D5 >FD465=O < 6O?>?=5=O 6E5 6<4O 

?5D6<G=OE ?D>D5EE<>=4?L=OE G<5=<= < =46O>>6, ?5D5G<E?5==OE 6 

E>45D64=<< GG55=>= ?D4>F<><. �=4<6<4G4?L=>5 7444=<5 6O?>?=5=> 6 

?>?=>< >5N5<5. 

'4>6?5F6>D<F5?L=>  �FG5F ?> ?D4>F<>5 E>>F65FEF6G5F ?> EFDG>FGD5 < E>45D64=<N  74O6?5==O< 

FD55>64=<O<. � >FG5F5 =5 6 ?>?=>= <5D5 >FD465=O < 6O?>?=5=O 6E5 6<4O 

?5D6<G=OE ?D>D5EE<>=4?L=OE G<5=<= < =46O>>6, ?5D5G<E?5==OE 6 

E>45D64=<< GG55=>= ?D4>F<><. �<5NFEO =54>EF4F>< 6 >D>D<?5=<< >FG5F4 

.�=4<6<4G4?L=>5 7444=<5 6O?>?=5=> =5 6 ?>?=>< >5N5<5. 

�5G4>6?5F6>D<F5?L=>  �FG5F ?> ?D4>F<>5 =5 E>>F65FEF6G5F ?> EFDG>FGD5 < E>45D64=<N 74O6?5==O< 

FD55>64=<O<. � >FG5F5 =5 >FD465=O < =5 6O?>?=5=O 6E5 6<4O ?5D6<G=OE 

?D>D5EE<>=4?L=OE G<5=<= < =46O>>6, ?5D5G<E?5==OE 6 E>45D64=<< GG55=>= 

?D4>F<><. �=4<6<4G4?L=>5 7444=<5 =5 6O?>?=5=>. 

 
 

10. 'G55=>-<5F>4<G5E>>5 < <=D>D<4F<>==>5 >55E?5G5=<5 ?D4>F<>< 

4 ) >E=>6=4O ?<F5D4FGD4: 

1. %4DG5=>>, �. �.  �5F>4<>4 < >D74=<74F<O 5<>?>7<G5E>>7> <EE?54>64=<O: GG55=>5 ?>E>5<5 

4?O 6G7>6 / �. �. %4DG5=>>. 4 �>E>64: �744F5?LEF6> .D4=F, 2023. 4 139 E. 4 (�OEL55 

>5D47>64=<5). 4 ISBN 978-5-534-14620-2. 4 &5>EF: M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 

.D4=F [E4=F]. 4 URL: https://urait.ru/bcode/520217 (44F4 >5D4M5=<O: 13.10.2023). 

2. %4DG5=>>, �. �. �5F>4<>4 < >D74=<74F<O 5<>?>7<G5E>>7> <EE?54>64=<O: GG55=>5 ?>E>5<5 

/ �. �. %4DG5=>>; %565D>-�46>47E><= D545D4?L=O= G=<65DE<F5F. 3 �>E>64; �5D?<=: �<D5>F-

�54<4, 2014. 3 173 E.: <?. 3 $56<< 4>EFG?4: ?> ?>4?<E>5. 3 

URL: https://biblioclub.ru/index.php?page=book&id=256684 (44F4 >5D4M5=<O: 18.06.2020). 3 

�<5?<>7D. 6 >=. 3 ISBN 978-5-4460-9573-5. 3 DOI 10.23681/256684. 3 &5>EF: M?5>FD>==O=. 

3. $<7=<G5=>>, �. ..  �4F5<4F<G5E>>5 <>45?<D>64=<5 5<>?>7<G5E><E ?D>F5EE>6. �>45?< 6 

5<>D<7<>5 < M>>?>7<<: GG55=>5 ?>E>5<5 4?O 6G7>6 / �. .. $<7=<G5=>>. 4 2-5 <74., ?5D5D45. < 

4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2019. 4 181 E. 4 (�OEL55 >5D47>64=<5). 4 ISBN 978-5-

534-07037-8. 4 &5>EF: M?5>FD>==O= // -�% .D4=F [E4=F]. 4 URL: http://biblio-

online.ru/bcode/451558 (44F4 >5D4M5=<O: 12.06.2019). 

4. ,<?>6, �. �.  ->>?>7<O: GG55=<> 4?O 6G7>6 / �. �. ,<?>6. 4 7-5 <74. 4 �>E>64: 

�744F5?LEF6> .D4=F, 2023. 4 539 E. 4 (�OEL55 >5D47>64=<5). 4 ISBN 978-5-534-09080-2. 4 

&5>EF: M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 

URL: https://urait.ru/bcode/510678 (44F4 >5D4M5=<O: 13.06.2019). 

5. $<7=<G5=>>, �. ..  �4F5<4F<G5E><5 <5F>4O 6 5<>?>7<< < M>>?>7<<. �<>D<7<G5E>4O 

4<=4<<>4 ?D>4G>F<>==OE ?D>F5EE>6 6 2 G. '4EFL 2: GG55=<> 4?O 6G7>6 / �. .. $<7=<G5=>>, 
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�. �. $G5<=. 4 3-5 <74., ?5D5D45. < 4>?. 4 �>E>64: �744F5?LEF6> .D4=F, 2018. 4 185 E. 4 

(�OEL55 >5D47>64=<5). 4 ISBN 978-5-534-07874-9. 4 &5>EF: M?5>FD>==O= // -�% .D4=F [E4=F]. 

4 URL: http://biblio-online.ru/bcode/452308 (44F4 >5D4M5=<O: 12.06.2019). 

 

5) 4>?>?=<F5?L=4O ?<F5D4FGD4: 

6. �>DE4> �.�., ->>?>7<O: GG55. ?>E>5<5 / �.�. �>DE4>, %.�. �>L4D>6, �.�. �5EFDO>>6 < 4D. 

- �.: �744F5?LEF6> ��&' <<. �. -. �4G<4=4, 2014. - 240 E. - ISBN 978-5-7038-3912-6 - &5>EF: 

M?5>FD>==O= // -�% "�>=EG?LF4=F EFG45=F4": [E4=F]. - URL: 

http://www.studentlibrary.ru/book/ISBN9785703839126.html (44F4 >5D4M5=<O: 27.06.2019). - $56<< 

4>EFG?4: ?> ?>4?<E>5. 

7. �>?LL4>>6 �.�., ->>?>7<O: 'G55=<>. / �.�. �>?LL4>>6, �.�. �4G4>, �.�. �>55D=<G5=>> < 

4D.; �>4 D54. �.�. &O7G=>64, ..�. /D>L5=>> - �.: �>7>E, 2017. - 504 E. - ISBN 978-5-98704-716-3 

- &5>EF: M?5>FD>==O= // -�% "�>=EG?LF4=F EFG45=F4": [E4=F]. - URL: 

http://www.studentlibrary.ru/book/ISBN9785987047163.html (44F4 >5D4M5=<O: 27.06.2019). - $56<< 

4>EFG?4: ?> ?>4?<E>5. 

8. �4L>4D>6, �. �. �E=>6O M>>?>7<< 6<6>F=OE. � 2 G. '4EFL 1 / �. �. �4L>4D>6. 4 �>E>64: 

�744F5?LEF6> .D4=F, 2019. 4 279 E. 4 (�=F>?>7<O <OE?<). 4 ISBN 978-5-534-09453-4. 4 &5>EF: 

M?5>FD>==O= // -�% .D4=F [E4=F]. 4 URL: https://www.biblio-online.ru/bcode/428037 (44F4 

>5D4M5=<O: 25.06.2019). 

9. �4L>4D>6, �. �. �E=>6O M>>?>7<< 6<6>F=OE. � 2 G. '4EFL 2 / �. �. �4L>4D>6. 4 �>E>64: 

�744F5?LEF6> .D4=F, 2019. 4 329 E. 4 (�=F>?>7<O <OE?<). 4 ISBN 978-5-534-09455-8. 4 &5>EF: 

M?5>FD>==O= // -�% .D4=F [E4=F]. 4 URL: https://www.biblio-online.ru/bcode/428038 (44F4 

>5D4M5=<O: 25.06.2019). 

10. �64=>6, �. �. �ED4=O5<O5 ?D<D>4=O5 F5DD<F>D<<: GG55=>5 ?>E>5<5 4?O 6G7>6 / �. �. 

�64=>6, �. �. '<6>64. 4 3-5 <74., <E?D. < 4>?. 4 �>E>64: �744F5?LEF6> .D4=F, 2019. 4 185 E. 

4 ('=<65DE<F5FO $>EE<<). 4 ISBN 978-5-534-07404-8. 4 &5>EF: M?5>FD>==O= // -�% .D4=F 

[E4=F]. 4 URL: https://www.biblio-online.ru/bcode/438513 (44F4 >5D4M5=<O: 27.06.2019). 

11. %4GEF>6, �. �.  ->>?>7<G5E><= <>=<F>D<=7: GG55=<> 4?O 6G7>6 / �. �. %4GEF>6, 

�. �. $54<=4. 4 2-5 <74., <E?D. < 4>?. 4 �>E>64: �744F5?LEF6> .D4=F, 2019. 4 543 E. 4 

(�OEL55 >5D47>64=<5). 4 ISBN 978-5-534-10447-9. 4 &5>EF: M?5>FD>==O= // -�% .D4=F [E4=F]. 

4 URL: http://biblio-online.ru/bcode/450199 (44F4 >5D4M5=<O: 13.06.2019). 

12. �4FOL5=>>, �. �.  �>=<F>D<=7 747DO7=5=<O >>DG64NM5= ED54O: GG55=<> < ?D4>F<>G< 4?O 

ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. �4FOL5=>>. 4 �>E>64: �744F5?LEF6> .D4=F, 

2019. 4 375 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-01404-4. 4 &5>EF : 

M?5>FD>==O= // -�% .D4=F [E4=F]. 4 URL: http://biblio-online.ru/bcode/450993 (44F4 >5D4M5=<O: 

13.06.2019). 

 

6) ?D>7D4<<=>5 >55E?5G5=<5, -�%, ?D>D5EE<>=4?L=O5 547O < �=F5D=5F-D5EGDEO: 

- =5>5E>4<<O= 4?O >55E?5G5=<O 44==>= 4<EF<??<=O >><??5>F ?<F5=7<>==>7> < E6>5>4=> 

D4E?D>EFD4=O5<>7> ?D>7D4<<=>7> >55E?5G5=<O, 6 F>< G<E?5 >F5G5EF65==>7> ?D><76>4EF64, 4 

F4>65 M?5>FD>==O5 5<5?<>F5G=O5 E<EF5<O, E >>F>DO<< G %��' <<55FEO 45=EF6GNM<= 4>7>6>D: 
 

7 

?/? 

�4<<5=>64=<5 7 4>7>6>D4(?<F5=7<O) 

 

%FD4=4- 

?D><76>4<F5?L 

1. 
Windows 7 Professional 7 4100072800  Microsoft Products 

(MPSA) >F 04.20167 

%,� 

2. 
OfficeStandard 2016 7 4100072800  Microsoft Products 

(MPSA) >F 04.20167 

%,� 

3. 
%<EF5<4 F5EF<D>64=<O 

SunravWEBClass 

7468 >F 03.12.2013 �� %G=74FG?<= 

$.&.(55EED>G=>) 

$>EE<O 

4. KasperksyEndpoint Security �> 22.01.2024 $>EE<O 

5. 

�D>7D4<<=>5 >55E?5G5=<5 4?O 

D544>F<D>64=<O E<<<G5E><E 

D>D<G? IsisDraw 

%6>5>4=>5 ?D>7D4<<=>5 

>55E?5G5=<5(55EED>G=>) 

%,� 
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6. 
%<EF5<4 ?><E>4 F5>EF>6OE 

74<<EF6>64=<= 

«�=F<??47<4F.�'�» 

7 6262 >F 09.01.2023 (45=EF6<F5?5= 

4>  31.12.20237) E ��� «�=F<-

�?47<4F» 

$>EE<O 

7. 
'E?G7< E6O7< (4>EFG? > E5F< 

<=F5D=5F) 

��� �?>>< 7 �L-0044 >F 

01.02.20227 -31.12.20227 

$>EE<O 

8. 
MOODLE �5E??4F=>5 D>EE<=E>>5 %,� (55E??4F=>5 

D>EE<=E>>5) 

9. 
�<G=O= >45<=5F 45<FGD<5=F4 �<F5=7<O 55EED>G=4O 

&5E.E>?D>6>645=<5 >F 14.03.2022 7 

$>EE<O 

10. 
�<G=O= >45<=5F 
EFG45=F4/E>FDG4=<>4 

�<F5=7<O 55EED>G=4O 

&5E.E>?D>6>645=<5 >F 14.03.2022 7 

$>EE<O 

11. 
-?5>FD>==4O 5<5?<>F5>4 

4<EE5DF4F<< < 46F>D5D5D4F>6 

$��(-�� $��)  

https://dvs.rsl.ru 

&D55G5FEO D57<EFD4F<O 6 5<5?<>F5>5 

%��' 

$>EE<O 

12. 
-�%"'=<65DE<F5FE>4O 

5<5?<>F5>4 ONLINE" 

https://biblioclub.ru 

&D55G5FEO D57<EFD4F<O 6 5<5?<>F5>5 

%��' 

$>EE<O 

13. 

-�% «�4GG=4O M?5>FD>==4O 

5<5?<>F5>4 eLibrary.ru»   

http://elibrary.ru. 

&D55G5FEO D57<EFD4F<O 6 5<5?<>F5>5 

%��' 

 

$>EE<O 

14. 

'=<65DE4?L=4O 547 44==OE 

EastView 

https://dlib.eastview.com 

 

%,� 

15. 

-�% «�>=EG?LF4=F EFG45=F4» 

%FG45=G5E>4O M?5>FD>==4O 

5<5?<>F5>4 ?> <54<F<=E>><G < 

D4D<4F56F<G5E>><G 

>5D47>64=<N, 4 F4>65 ?> 

5EF5EF65==O< < F>G=O< =4G>4< 6 

F5?><.    

http://www.studentlibrary.ru 

&D55G5FEO D57<EFD4F<O 6 5<5?<>F5>5 

%��' 

$>EE<O 

16. 

-�% «.D4=F» - >5D47>64F5?L=4O 

ED544, 6>?NG4NM4O 6<DFG4?L=O= 

G<F4?L=O= 74? GG55=<>>6 < 

GG55=OE ?>E>5<= >F 46F>D>6 <7 

654GM<E 6G7>6 $>EE<< ?> 6E5< 

=4?D46?5=<O< < E?5F<4?L=>EFO< 

www.biblio-online.ru 

&D55G5FEO D57<EFD4F<O 6 5<5?<>F5>5 

%��' 

$>EE<O 

 

�D>D5EE<>=4?L=O5 547O 44==OE < �=F5D=5F-D5EGDEO: 

� �EO 5<>?>7<O. %>6D5<5==4O 5<>?>7<O, EF4FL<, =>6>EF<, 5<5?<>F5>4. URL: https://sbio.info; 

� $G=44<5=F4?L=4O M?5>FD>==4O 5<5?<>F5>4 «$?>D4 < D4G=4». URL: 

http://herba.msu.ru/shipunov /school/sch-ru.htm 

� �>DF4?-?5DE>=4?L=O= E4=F «�D>5?5<O M6>?NF<<». URL: http://www.evolbiol.ru 

� �474 44==OE. �?D545?<F5?L D4EF5=<=. URL: https://www.plantarium.ru 

� �474 44==OE. ZooInt 3 7>>?>7<G5E>4O <=F57D<D>64==4O <=D>D<4F<>==>-?><E>>64O 

E<EF5<4. URL: http://www.zin.ru/projects/zooint_r/ 

� �D4E=4O >=<74 $>EE<<. URL: http://www.biodat.ru/db/rb/ 

 

10. �4F5D<4?L=>-F5E=<G5E>>5 >55E?5G5=<5 4<EF<??<=O (<>4G?O) 

 

�4<<5=>64=<5 ?><5M5=<= 4?O ?D>6545=<O 6E5E 6<4>6 GG55=>= 

45OF5?L=>EF<, ?D54GE<>FD5==>= GG55=O< ??4=><, 6 F>< G<E?5 

?><5M5=<O 4?O E4<>EF>OF5?L=>= D45>FO, E G>474=<5< ?5D5G=O 

�4D5E (<5EF>?>?>65=<5) ?><5M5=<= 

4?O ?D>6545=<O 6E5E 6<4>6 GG55=>= 

45OF5?L=>EF<, ?D54GE<>FD5==>= 

GG55=O< ??4=>< (6 E?GG45 
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>E=>6=>7> >5>DG4>64=<O, GG55=>-=47?O4=OE ?>E>5<= 

< <E?>?L7G5<>7> ?D>7D4<<=>7> >55E?5G5=<O 

D54?<74F<< >5D47>64F5?L=>= 

?D>7D4<<O 6 E5F56>= D>D<5 

4>?>?=<F5?L=> G>47O645FEO 

=4<<5=>64=<5 >D74=<74F<<, E 

>>F>D>= 74>?NG5= 4>7>6>D) 

�45>D4F>D<O 7>>?>7<< < M>>?>7<G5E>>= <>DD>?>7<< 6<6>F=OE 

4?O ?D>6545=<O 74=OF<= E5<<=4DE>>7> F<?4, ?45>D4F>D=OE 

74=OF<=, >GDE>6>7> ?D>5>F<D>64=<O (6O?>?=5=<O >GDE>6OE 

D45>F), 7DG??>6OE < <=4<6<4G4?L=OE >>=EG?LF4F<= 

>5GG4NM<EEO: ?D5?>4464F5?LE><= EF>?; EFG?; EF>?O >5GG4NM<EEO; 

EFG?LO; >4D54D4; >?4EE=4O 4>E>4, 4>E>4 <=F5D4>F<6=4O 78" 

(10702070/151012/0011344/2), ?D>5>F>D BenQMX503, G4?<=<F5?L 4x3 

E/7 Della. �><?LNF5D 4?O >D<E4 6 >><??5>F5 E ?D>7D4<<=O< 

>55E?5G5=<5<, 6OE>4>< 6 E5FL �=F5D=5F < 4>EFG?>< 6 M?5>FD>==GN 

>5D47>64F5?L=GN ED54G %��'. (�>=<F>D (��% 

E2350Sda<�14E>>//%<EF5<=O= 5?>> (CPUAMD 270 BOX, 

BiostarAMDS-AM3, 6GDDR1333. 1TB, DVD+/-RW, 500w+UPS 

500V�)// �?46<4FGD4 (SVEN Standart �10//�OLL (SVEN Standart 310// 

%5F56>= D<?LFD (ExeGate 3m)//�4FG >>D4 (Patch Cord >4F.55 

2m//$>75F>4 (RJ-4). �45>D4F>D=>5 >5>DG4>64=<5: <<>D>E>>? 

<54<F<=E><= �<><54-5 - 9 LF., �<=>>G?OD=O5 ?G?O �<>D><54 1 LF., 

��%-9 3 6 LF., DGG=O5 ?G?O 3 14 LF. �G?O6< 6<6>F=OE, 6?46=O5 

?D5?4D4FO < <<>D>?D5?4D4FO, 6<45><4F5D<4?O, 4>?>?=<F5?L=>5 < 

6E?><>74F5?L=>5 >5>DG4>64=<5 4?O ?D5?4D<D>64=<O (=>6=<FO, 

E>4?L?5?<, ?<=F5FO, ?D5?4D>64?L=O5 <7?O, G4L>< �5FD<, ?>>D>6=O5 

< ?D54<5F=O5 EFU>?4, G4E>6O5 EFU>?4, ?<?5F><, D<>E4F>DO, 

>D4E<F5?<). %>?>4<?L=<> Indesit ST 167 3 1 LF. 

�D>7D4<<=>5 >55E?5G5=<5: Microsoft Windows 7 Professional;  Microsoft 

Office Standard 2016; 7-zip; WinRAR; Adobe Acrobat Reader;  STDU 

Viewer; Mozilla Firefox; Google Chrome; Kaspersky Free;   �>=EG?LF4=F 

??NE; %<EF5<4 ?><E>4 F5>EF>6OE 74<<EF6>64=<= «�=F<??47<4F.�'�»; 

�D>7D4<<4 4?O -�� «�4=> 6>?D>E>6 4?O >>=FD>?O 7=4=<=»; �4D4=F;  

45<>=EFD4F<>==O5 <  GG55=>-=47?O4=O5 ?>E>5<O (6<45>?D575=F4F<O). 

$>EE<=E>4O $545D4F<O, 362025, 

$5E?G5?<>4 %565D=4O �E5F<O 4 

�?4=<O, 7. �?44<>46>47, �4FGF<=4, 4. 

44-46, GG55=O= >>D?GE 7 7 ('� 7 7), 

D4>G?LF5F E<<<<, 5<>?>7<< < 

5<>F5E=>?>7<<, 4G4<F>D<O 26 � 

�45>D4F>D<O ��$ <  <>=<F>D<=74 ?D5E=>6>4=OE E>>5M5EF6 4?O 

?D>6545=<O 74=OF<= E5<<=4DE>>7> F<?4, ?45>D4F>D=OE 74=OF<=, 

>GDE>6>7> ?D>5>F<D>64=<O (6O?>?=5=<O >GDE>6OE D45>F), 

7DG??>6OE < <=4<6<4G4?L=OE >>=EG?LF4F<=, 4 F4>65 

E4<>EF>OF5?L=>= D45>FO >5GG4NM<EEO: ?D5?>4464F5?LE><= EF>?; 

EFG?; EF>?O >5GG4NM<EEO; EFG?LO; >4D54D4; �=F5D4>F<6=4O 4>E>4 Smart 

Board 3 1 LF; $45>G4O EF4=F<O RU Ergo Home 123/ Keyboard USB/mouse 

optical USB/400 W 17 3 1 LF. E ?D>7D4<<=O< >55E?5G5=<5<, 6OE>4>< 6 

E5FL �=F5D=5F < 4>EFG?>< 6 M?5>FD>==GN >5D47>64F5?L=GN ED54G 

%��'. �D>5>F<>==>5 <G?LF<<54<==>5 >5>DG4>64=<5 

(<G?LF<<54<==O= ?D>5>F>D Opt>ma DE 327 E ?>F>?>G=O< >D5??5=<5<-

>D>=LF5== Kromax PROJETOR-10 4?O ?D>5>F>D>6 3 EF. =4>?>=; ->D4= 

DINON Manual 180E180 MW- 1 LF.  

�D>7D4<<=>5 >55E?5G5=<5: Microsoft Windows 7 Professional; Microsoft 

Office Standard 2016; 7-zip; WinRAR; Adobe Acrobat Reader; STDU 

Viewer; Mozilla Firefox; Google Chrome; Kaspersky Free; 

45<>=EFD4F<>==O5 < GG55=>-=47?O4=O5 ?>E>5<O (6<45>?D575=F4F<O). 

$>EE<=E>4O $545D4F<O, 362025, 

$5E?G5?<>4 %565D=4O �E5F<O 4 

�?4=<O, 7. �?44<>46>47, �4FGF<=4, 4. 

44-46, GG55=O= >>D?GE 7 7 ('� 7 7), 

D4>G?LF5F E<<<<, 5<>?>7<< < 

5<>F5E=>?>7<<, 4G4<F>D<O 26 � 

�45>D4F>D<O F<F>?>7<<, 7<EF>?>7<< < 5<>?>7<< <=4<6<4G4?L=>7> 

D476<F<O 4?O ?D>6545=<O 74=OF<= E5<<=4DE>>7> F<?4, 

?45>D4F>D=OE 74=OF<=, >GDE>6>7> ?D>5>F<D>64=<O (6O?>?=5=<O 

>GDE>6OE D45>F), 7DG??>6OE < <=4<6<4G4?L=OE >>=EG?LF4F<=, 4 

F4>65 E4<>EF>OF5?L=>= D45>FO >5GG4NM<EEO: ?D5?>4464F5?LE><= 

EF>?; EFG?; EF>?O >5GG4NM<EEO; EFG?LO; >4D54D4; >?4EE=4O 4>E>4, 

<<>D>E>>? <54<F<=E><= �<><54-5 64D.2 - 7 LF., �<>D>F>= ���-1 3 1 

LF., 4>?>?=<F5?L=>5 < 6E?><>74F5?L=>5 >5>DG4>64=<5. �>E>4 

<=F5D4>F<6=4O 78" (10702070/151012/0011344/2), ?D>5>F>D 

BenQMX503, G4?<=<F5?L 4x3 E/7 Della. �><?LNF5D 4?O >D<E4 6 

>><??5>F5 (�>=<F>D (��% E2350Sda<�14E>>//%<EF5<=O= 5?>> 

(CPUAMD 270 BOX, BiostarAMDS-AM3, 6GDDR1333. 1TB, DVD+/-

RW, 500w+UPS 500V�)// �?46<4FGD4 (SVEN Standart �10//�OLL 

$>EE<=E>4O $545D4F<O, 362025, 

$5E?G5?<>4 %565D=4O �E5F<O 4 

�?4=<O, 7. �?44<>46>47, �4FGF<=4, 4. 

44-46, GG55=O= >>D?GE 7 7 ('� 7 7), 

D4>G?LF5F E<<<<, 5<>?>7<< < 

5<>F5E=>?>7<<, 4G4<F>D<O 308 
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(SVEN Standart 310// %5F56>= D<?LFD (ExeGate 3m)//�4FG >>D4 (Patch 

Cord >4F.55 2m//$>75F>4 (RJ-4). 

�D>7D4<<=>5 >55E?5G5=<5: Microsoft Windows 7 Professional;  Microsoft 

Office Standard 2016; 7-zip; WinRAR; Adobe Acrobat Reader;  STDU 

Viewer; Mozilla Firefox; Google Chrome; Kaspersky Free;   �>=EG?LF4=F 

??NE; %<EF5<4 ?><E>4 F5>EF>6OE 74<<EF6>64=<= «�=F<??47<4F.�'�»; 

�D>7D4<<4 4?O -�� «�4=> 6>?D>E>6 4?O >>=FD>?O 7=4=<=»; �4D4=F;  

45<>=EFD4F<>==O5 < GG55=>-=47?O4=O5 ?>E>5<O (6<45>?D575=F4F<O).  

�45>D4F>D<O E<EF5<4F<>< =<7L<E < 6OEL<E D4EF5=<=: 

?D5?>4464F5?LE><= EF>?; EFG?; EF>?O >5GG4NM<EEO; EFG?LO; >4D54D4; 

>?4EE=4O 4>E>4, <G?LF<<54<==O= >><??5>E (?D>5>F>D, M>D4=), =>GF5G>, 

>>?>=><. 

�5>DG4>64=<5: �<>D>E>>? «�<>D><54 1�4D.2-25»; <<>D>E>>? 

«�<>?4<»; 5<=>>G?OD «��-51-2». �<>D>E>>? EF5D5>E>>?<G5E><= 

?4=>D4F<G5E><= �%�-1 64D.2; �<>D>E>>? 5<>?>7<G5E><= 

5<=>>G?OD=O= �<>D><54 1 64D. 2-20; �<>D>E>>? 5<>?>7<G5E><= 

5<=>>G?OD=O= �<>D><54 3 64D. 2-20(E 6E>4>< 4?O >4<5DO); 

5<=>>G?OD=4O ?G?4; E>?>4<?L=<> «�=457<F»; 75D54D<=. &<DD>64O 

>4<5D4 (6<45>>>G?OD 4?O <<>D>E>>?4) ToupCam 9.0MP; 75D54D<=; 

>>??5>F<O 6<6OE 45>>D4F<6=OE  < M>7>F<G5E><E D4EF5=<=; >>??5>F<O 

E5<O=; >>??5>F<O ??>4>6; 6?46=O5 ?D5?4D4FO. 

�D>7D4<<=>5 >55E?5G5=<5: Microsoft Windows 7 Professional; Microsoft 

Office Standard 2016; 7-zip; WinRAR; Adobe Acrobat Reader; STDU 

Viewer; Mozilla Firefox; Google Chrome; Kaspersky free (E6>5>4=>5 ��) 

$>EE<=E>4O $545D4F<O, 362025, 

$5E?G5?<>4 %565D=4O �E5F<O 4 

�?4=<O, 7. �?44<>46>47, �4FGF<=4, 4. 

44-46, GG55=O= >>D?GE 7 7 ('� 7 7), 

M>>=><<G5E><= D4>G?LF5F, 4G4<F>D<O 

208 

�><?LNF5D=O= >?4EE 4?O ?D>6545=<O  E4<>EF>OF5?L=>= D45>FO 

>5GG4NM<EEO: ?D5?>4464F5?LE><= EF>?; EFG?; EF>?O >5GG4NM<EEO; 

EFG?LO; >4D54D4; >?4EE=4O 4>E>4. 

�5>DG4>64=<5: �><?LNF5DO 4?O >><?LNF5D=>7> >?4EE4 6 >><??5>F5, 

<EF>G=<>< 55E?5D55>==>7> ?<F4=<O, Ippon, >><<GF4F>D 4?O >?4EE4 D-

Link DGS-10240, <=F5D4>F<6=4O 4>E>4 78*(1702070/15112/11344/2+ 

?D>5>F>D Beno MX503. 

�D>7D4<<=>5 >55E?5G5=<5: Microsoft Windows 7 Professional;  Microsoft 

Office Standard 2016; 7-zip; WinRAR; Adobe Acrobat Reader;  STDU 

Viewer; Mozilla Firefox; Google Chrome; Kaspersky free (E6>5>4=>5 ��);  

�>=EG?LF4=F ??NE; 45<>=EFD4F<>==O5 < GG55=>-=47?O4=O5 ?>E>5<O 

(6<45>?D575=F4F<O). 

$>EE<=E>4O $545D4F<O, 362025, 

$5E?G5?<>4 %565D=4O �E5F<O 4 

�?4=<O, 7. �?44<>46>47, �4FGF<=4, 4. 

44-46, GG55=O= >>D?GE 7 7 ('� 7 7), 

D4>G?LF5F E<<<<, 5<>?>7<< < 

5<>F5E=>?>7<<, 4G4<F>D<O 614 

 

�<5?<>F5>4, 6 F>< G<E?5 G<F4?L=O= 74?: EF>?O, EFG?LO; �� 

>5GG4NM<EEO. 

�D>7D4<<=>5 >55E?5G5=<5: Microsoft Windows 7 Professional; Microsoft 

Office Standard 2016; 7-zip; WinRAR; Adobe Acrobat Reader;STDU 

Viewer; Mozilla Firefox; Google Chrome; Kaspersky free (E6>5>4=>5 ��); 

�>=EG?LF4=F ??NE. -�%"'=<65DE<F5FE>4O 5<5?<>F5>4 ONLINE" 

https://biblioclub.ru -�% «�>=EG?LF4=F EFG45=F4»     

http://www.studentlibrary.ru -�% «.D4=F» www.biblio-online.ru 

$>EE<=E>4O $545D4F<O, 362025, 

$5E?G5?<>4 %565D=4O �E5F<O 4 

�?4=<O, 7. �?44<>46>47, 

&5D5F5?</�4FGF<=4, 4. 16/19 

�><5M5=<O 4?O ED4=5=<O < ?D>D<?4>F<G5E>>7> >5E?G6<64=<O 

GG55=>7> >5>DG4>64=<O: 

�5>DG4>64=<5: E?5F<4?<7<D>64==4O <555?L, EF5??46< 4?O ED4=5=<O 

GG55=>7> >5>DG4>64=<O. 

%?5F<4?L=O5 <=EFDG<5=FO, F5E=<G5E>4O 4>>G<5=F4F<O < <=65=F4DL 

4?O >5E?G6<64=<O GG55=>7> >5>DG4>64=<O. 

$>EE<=E>4O $545D4F<O, 362025, 

$5E?G5?<>4 

%565D=4O �E5F<O�?4=<O, 

7>D>4 �?44<>46>47,G?<F4 �4FGF<=4, 

4>< 44-46, GG55=O= >>D?GE 7 7, 

4G4<F>D<O 7 307 �  

�G75= 5EF5EF65==>= <EF>D<< %?>65=<< (5/=, 6.05.2019-6.05.2024 7.) 
Slovenia, 1000,  Ljubljana, Preaernova 

cesta, 20 

�=EF<FGF ?D>5?5< M>>?>7<< < M6>?NF<< <<. �.�. %565DF>64 

$>EE<=E>>= 4>445<<< =4G>, (��-- $��) (7 4>7>6>D4 20-43, 

5.03.20207. 3 30.03.20237.) 

$>EE<=E>4O $545D4F<O, 119071 7. 

�>E>64 , �5=<=E><= ?D-F., 33, EFD.1 

$��' «�4F<>=4?L=O= ?4D> «�?4=<O» (5/=, 1.10.20207. 3 1.10.20257.) 

$>EE<=E>4O $545D4F<O,363000, 

$5E?G5?<>4 %565D=4O �E5F<O-�?4=<O, 

�D4DE><= $-�, E. �4<4F4, 4.  6. 

%565D>-�E5F<=E><= 7>EG44DEF65==O= ?D<D>4=O= 74?>654=<> (5/=, 

25.10.2012 7., 55EED>G=O=) 

 

$>EE<=E>4O $545D4F<O, $5E?G5?<>4 

%565D=4O �E5F<O-�?4=<O, �?47<DE><= 

D4=>=,  7. �?47<D, &5=FD. GE44L54: G?. 

'. �4E<56>=, 1,  
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11. �<EF >5=>6?5=<O/4>FG4?<74F<< 

 

�D>7D4<<4 >5=>6?5=4. 

 

$45>G4O ?D>7D4<<4 >5EG645=4 < GF65D645=4 =4 74E544=<< >4D54DO 7>>?>7<< < 

5<>M>>?>7<< (?D>F>>>? 7 10 >F «13» 4?D5?O 2022 7.). 

�D>7D4<<4 >4>5D5=4 =4 74E544=<< E>65F4 D4>G?LF5F4 E<<<<, 5<>?>7<< < 5<>M>>?>7<< 

(?D>F>>>? 7 6/21-22 >F «25» 4?D5?O 2022 7). 

 

 
 

 


